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QUESTION PAPER WISE ANALYSIS 1A S
INDIAN HISTORY 11 TO 18
TELANGANA ART & CULTURE 88 TO 102

GEOGRAPHY 76 TO 78 , 82 TO 87
POLITY 1TO 10, 60
ECONOMY & TELANGANA 51 TO 59

ECONOMY

GOVERNANCE & GOVT SCHEMES

76 TO78,82TO 87,

INDIAN CURRENT AFFAIRS &
INTERNATIONAL EVENTS

108 TO 126, 145 TO 150

TELANGANA CURRENT AFFAIRS

79 TO 81,103 TO 107

SCIENCE & TECHNOLOGY

127 TO 144

REASONING & APTITUDE

25TO 45




oupP-1 -
s e B
INDIAN HISTORY 6
TELANGANA ART & CULTURE 17
GEOGRAPHY 9
POLITY 11
ECONOMY & TELANGANA ECONOMY 9
GOVERNANCE & GOVT SCHEMES 20

INDIAN CURRENT AFFAIRS & INTERNATIONAL

EVENTS 25
TELANGANA CURRENT AFFAIRS 9
SCIENCE & TECHNOLOGY 18
REASONING & APTITUDE 21
ENVIRONMENT 5
TOTAL 150

BEST AUTHENTIC KEY WE TRIED,
*MEANS OPTIONS WRONG

IF YOU WANT TO SHINE LIKE THE SUN-
THEN BURN LIKE THE SUN




th their Provisions

ﬁ" i, L% :(Dzénstitut:ion of India Wi
i 1  Match the following Articles pf the, NP
‘ 3 e 1 vﬁsiﬂn St
i Article _ Pro tiop.of untouchs‘u.bllf_ 11 Eployaent
2| A Article 14, L, ADOUOR S ity inggub
Nhgml e T B R e
g. ﬁﬁ: 17 X411 Equalit bef“_rf_ ‘;he & 8 e
2’ s £ rliii1s Y. Abolition of BEES
Choose the correct answer : T, DIV
(1) AIL; B, C-IV; D-IHIV y A-I; B-1L; - |
(3) AL, B-IIT; C-IL; D;i - Untouchabiﬁty (offenceS) Act, 1955. Which of the following became the
s The Parliament enacte e the Act ?
c ﬁr;: case before the Supreme Court ur;ij ‘
(1) Vimalesh Tomar Vs. State ;f H}«’fl'}’
Pl G(';l{ei&b'l‘)négcheduled Caste/Tribe Employees’ Welfare Association Vs. Union of

Q ﬁ Posts & Telegraphs
India

= ’ 7 in the Constituent Assembly, observed that :

g,  Dr. B.R. Ambedkar, on the debate 0 . nt-

A. it involves the relation between legislature a@}l judiciary. . : '

B. in a federal system, it is about judiciary decg law as ultra vires or intra vires.
C. It involves the adjustment of federal arranent.

% Choose the correct answer : @
(1) A, B and C are true. ¢42) Only B and C are true.
e (8) Only A and C are true. -
4.  Which of the following is an essential feature of a

Federal Constitution ?

(2) Supremacy of Judiciary

Q (8) Parliamentary Supremacy VI ' (3:1‘) Election Commission

5. Consider the following in relation to %(N;(EBJ of the Constitution :

e It. Smpowers the I_’;aﬂ?ameﬂt-fto amend the Constitutions"
iy empowerstheParhameﬂt to amend the Constitution by 2/3 majority. v
g' gh?;s_r;(i’t .emptower-the_ Parliament to amend the Fundamental Rights. S

(ﬂ F’)hlch of the above statements are correct‘? f 1 Constitution except Basic Stmitie
DA A re correct 7

P ; 5 4; Only A, B and € are true.
SR TR {4) Only A and
"Which of the follo ¥R e rte,

Policy ? WINg pairs are correct mr&l&h@ to the Articles of the Directive Prir ciples of St
A:. Article-ag A : Free IEgalaid ;/ﬂ .

I e participatjc
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]
|'|
R . ﬁament : |
, : e pers of the Par |
8. Consider the following in relation to the election of the._mem 0 > sl
~ Lok Sabha members are elected directly on the basis of aflun;lsufﬁzgsen +ation pasis bY th Cta_&__ﬂ!
~ Rajya Sabha members are indirectly elected on a_propﬂmﬂn rep ades
members of the State Legislative_AssemblieS-. Lo O spe_cial knowl 2 ]
j ' inat he Prime Mint 3.
. A few Rajya Sabha members are nomina ed by t S geogﬁlphl cal ared

\;%hRajya Sabha members are allotted to each state base
ich of the above statements are correct ? ;
2) A,BandD only

(1) Aand D only
, minen Al
g. The Constitution (4th Amendment Act), 1955 introduced the concept of E //D”am-

concept includes : :
A. The Police power to detain persons for %hc purpose
B. The power to impose taxes on citizens f@public welfare
& The legal capacity to take priv erty for publi
{ D. The legal capacity to share public burden,
Choose the correct answer : <l
(1) D only

2%

2) B,CandD only
(4) AandB only

10. Consider the following statements :
A. The Supreme Court has recognised that casting of vote is a form of speech. : |
B. The voter has the right to know the antecedents of the candidate who is contesting elections. ¢

K Which of the above statements is/are correct ? _
(1) Neither A 'J':i'qi*: et (2) Only B is true. t

| orBothAandBarctrue. @ Only A s true. B
_- Consider the following sta : | g

A. Mahatma Gan Opinior?, to apprise the British Government of the
en by Mahatma{Gandhi in Gujarati in 1909 was proscribed by the
y and then in 19¥@+it was published in English in London. -

@ Nether orB
(3) BothAand B o

. 12, Arrange the following in chronological order according to their year of establishment :
s 13 Ucrety . 2hi% B. Benares Debating Club '

e D. Society for Translating
Jultivation of Science -

Eumpeanscle
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21.

22.

RS
; etion:
.t order of Phowchgml cal 8 3 i M
corTec
: 5. e, and R
A Emﬁ@%& reaction be;:z:::lqozx andOg- NO» and hydro, %
B. Ozone productio” ther pol utants 2090 he reaction bebween i 2 Ay e
C. Ozone reacts Mthtﬂ (PAN) i8 produced bY ; . 4 A,D @r(:‘* ' .
. Peroxy Acyl Nitrase e D
ghaose the correct Qr‘?;; ’Aa c,BD O lant sources : ; e !, &
C st b, L yes) ir plant ; PRI
(1) A,D, B, ouly ised modera dTUEs Wéﬁ‘ theing el a
ch commonLLy ! =18 e
Match the Plant Source {:} _ 1 CEBE
D llin 1 Velvetbeat h (gl o

- I.f];Pa I Yellowcinchona g ]
e . Penicillium fungl e |

D. Taxol V. Pacific yew j <2
Choose the correct answer (2) A-Iv; B-IIL C-L D-II |
£ (4) A-III; B-IV; Cc-1, D-I1 : :
(3) AL B-I; C-llL L= °

- I "y B

Which of the following statements are true about greenhouse gfe ‘
A. Greenhouse gases absorb long wave radiation.'ﬁ‘om- the Earth. oy S 2 L
~The greenhouse effect is responsible for heating of the Earth’s surface an. SI) j
7 The greenhouse effect causes El Nino effect. : ' % y ‘
D. Few of the direct greenhouse gases unﬂ%Kyoto Protocol are COg, CHy, SFg and | |
Rl e N | 2]
S N & (2) B and C only e, 0 o
- VISHNU IA8
e 23. |
i i)

to the stabilization of the ozone layer beca

i
f

ments regarding the effects of climate change :
| decrease in renewable energy Sﬂurces '

o oo sea ice, expansion of tropical f
¢ LQoemission, increased lacicre

\d

o




26. LetA:ZO%of'x+80%of'y i
and B = 70% of x + 30% of y b - v e
(4) 20

where x is greater than y. . ¥,
If k% of (x — ¥) is (B — A), then what is the v@ue of k? Pﬁ
900 meters away in the

(2) 30 s
rts walking from his house towdrds the playground which i8 . 20 m. He then turns
% 60 m, he turns left and W&
ng 60 m, he s left and walks 20 m

irecti  Bast from his house. After wa
:‘iils'l;:t:::i l:’«?e\lkﬁ 40 m. Again he turns right and walks 40 m. After that, tlljea:l;?th o ratio between the
and finally turns left and walks 20 m and reaches the point P. Then, W Aand
distance vet to be travelled along the straight road to reach the playgrou
walked during travelling in reaching the point P 7
(D 1:2 @3) 3:5 @) &
28. A notation representing the blood relationships between two individuals A and B is given below :
A + B means A is the mother of B. A
A — B means A is the brother of B. ? ao
A @B means A is the father of B. - p fo
A & B means A is the sister of B. G e
A % B means A is the daughter of B. o & :
For the given four individuals P . using the notation given above, which one of the

following shows that P is the mother-in-lé;@ S5? :
() P+Q-R@S (2) P&Q+R@S @ (4Bt S

is written uéﬁg the 15 term with a definite rule. If the 4th term is to
pplied to the 3rd torm, then the term in place of 7’ is :

27, Rahul sta
the total distance

(2) GSACZE (3) GSACZD (4) GSACXD
30. In the ﬁ)l]nwmg,them ' twafé'lmsbn each side of : : . The first two are related to each other by
following a certain y followig the same analogy, the 4™ term which follows the rule

?’”— '
(4) (21,23

(2,3,5):(5,7,11):: (1 ¢
es are given. By filling these blanks with appropriate

(1) @%2329 (2 (17,19,21) :

31 In the following letter series, six blank spa
letters, the series becomes a series with -s- nite pattern. Choose the right option that makes the

Xy Z yZX 2 VXY FY2XZ_Y ¢
Dzxyyzx CE— : %_1 @) xy,2,x%y,2 4 x,X%X%,5.5.2
33, “F,:biub has 2780 membersbslongmgtovgn us professions, whose details are shown in the following
\ F 3 - A _..’_. 5 ..1 . 4 5 |
| Profension” | Weazber ol Rodlo vitiestn | A be 618_7'3 A % €l e Ao PR RS TovwK
Y g LT seap . ~&so 3OV
Lawyers | 270_ R o
ST B v ey o L e
' 0 '8‘1 St | :
e members ?

e




di (H), 25 studentg
paﬂ“d‘nmn % 3

n English (E) 29 gtudents

33. In an examination, 27 students pagsed i

 passed in Telugu (T) 10 students passed in E and I; 8 students pass i
passed in E and T. The number of students who passed in each subject alone was BC!“ﬂl’ and was 15
for each subject. A total of 70 students wrote the exams in all the three subjects.

Match the following List A with the List B : Z'w

A The rumber of students who passed in T dnd H, but not in E 1L 9

B. The number of students who ha\%e failed invall the three: subjem‘ m 12

G \ ﬂﬁ‘n\ﬁnbetofahdentswhopassedin allﬂathzeesﬂhiem i 2 m- iﬁ

D. The numbe_t‘ofzmudents who paseéd.in two aub;ectg;.-only ETac W, 34

Hintle o g e U P




ed to the respective

relat :
3 pumber in place of s My

{ colump &

.. the thire itable W,
: the pumbers 10 o9 tion, Find t}" s l\
i 35) In the following tablé, ith & definite ré slat
3 / first and second "'l"“”‘j e 36.
2200 | 784 | 10
O T T )
[ s249 | 14 =T (4) 3254
L ) s (3) 2918
- SRl B I [a(ndpnt!- who opt ed for “ng Iphy(’]"’ﬂ" I8
B ey 1 . nber(® s ho opted onl s .u (1) 3016
/- 88, In a degree programme of a college; i If'glafj"”“h[ P okss it & y ﬁ')r( E"ﬂ
/ _ _ ,d for Chemistry. s and Chemistry. Then the ¢
L number of students who optec A mrl]]mh Physic fend h 36 £ Sermm
is twice the number of students Who i times the number of students Wio Opted AT IR
students who opted for Physics 18 oy mSL (-'” I'I' LT O
Physics and Chemistry ? 3}) 6 % y5 i)r-:h@e.
~ (S @ 7 \ ay e ]
., che = |t B s
[ 87. Consider the following addition : ?"7( v
& ?%6 + lO g L 37- !._’goé ~C
A B C 9 Adodr= 2es 4
« C A B 8"'B 3
B 9 8l0 =
where A, B and C represent three different digits from 0 to 9. é A, B ot
Which of the following two inequalities is/are correct ? g ’Zé( (} L’ 1808 &
L. A+B-C<7 i 2A-3B<4C ﬁ I A+
¢V -Neit.her I nor 11 is correct ¢ Only II is correct. (1) IS8
: nd IT ' %4’) Only I is correct. /}D A
j vn/
38. Prod;:ctmn and sale of a certain brand of cars forsix years is given in the follo b1aph_ Studri v
graph carefully and answer the quéstion. L J e : 38. &
N % X
- Production and Sales of Cars %o I gl
o 1600 l'Zf@
1400 180
S o0 AN &Y Vi 160
S 1000 == - T N o e 14¢
£ a0 7 s = < d Lm : a 12
= 600 - T P e » g
| m— i (L&) oo LD &
 — ' ; B (2o B
2018 2019 2020 909 Vag 4 N .
- 1 2022 9008 P’f (é‘ oo 2
car Q  (re@ _C 5
w—e Production n...... Sales 05 /_ ‘3 x«*é g’ﬁé—j
Q Q:,,g———z‘i- &
e
39, ‘ (1) 38
HULes and houp
B ha.lldﬂ of a Cl()ck at 7 42 PMP 39, 2.8 id
(1} 540 i AM is x° and at 5:18 e
{ (8) 43° s,
1 (1) 54

TEST 2,24 [F] ‘ (14) |24 é (@ 790
'i \ % 264 g TEST 2.24




les in a shop.
40. The following pie chart shows the sale of different vegetable

26% | g0
bbage| Potatoes

16% 20%

Pumpkins 0% Beans

Q
08

Q
Consider the following statements :
. Sum of sales of pntfmplnns and drumsticks is equal to that of cabbage.
,B” People are buying beans more than cabbage.
Potatoes are the best-selling vegetables in the SQP .
B Potatoes and beans collectively account for half of the total sales. 1
Whlch of the above statements are correct ? '
(1) A and D only (2) CandD only !.
(4) A, Band Conly 2

Drumsticks

41. Which of the following statement(s) is/are true ?
I. The year 2024 has 53 Mondays.
II. The year 2027 has 53 Saturdays.
III. The year 2028 ends with a Saturday.
Choose the correct answer.
(1) OnlyIand II are true.
(3) AilJ.,II andIIIamtrug. .,

rﬁ%Only 11 is true.

3 t;r he s'}n}e f_i,]\'ﬁwhose faces are numbered from 1 through 6.

If this dice is opened it looks like which one of the following figures ?

1 1127 3 1 2

(1) 4 (2) 4 (3) 3 q
411)3
2713186 5 5 6

5 16 41612 5
Isy>x? 8
Statements : e Sl )
L x%ﬂ,xy»xq:b‘ytq T RS
au s the right option among g y ¥

(2) Onl



44.

46.

TEST 2.2
T2.24 [E . (18)

table. P, Q and R are facing the Centy,

Fruk { a circular wond to the left of P ;
. : , sitting arounc S sntre. Secon 2 1S th
Six persons P, Q, R, S, T and U are si e are facing t::e[;{',r and S are immediate neighb(,m,: 44-

of the table whereas the backs of the n”w-'i;::‘d opposite o
one opposite to U, T is second to the ln:'i, of L

of Q, then who is sitting opposite to R '(4] Q (4)

(D P T

Find the next number in the following series : 45.

1, 3™ Y585 o1, 101, B aio 4% 820
T z @) 821 (3}1 322
Consider the following statements state with higher literacy rate. 46-
I. - Crime against women is lower l:‘ «‘: :—ir:tmw
: - literacy rate leads to better ec s i 1 ] .

II%IE“B:I-] :it(:t::::lf;{:,;tt_‘l;‘-::f;flijqugﬂ(‘hknp.ﬁor the most suitable:. option among the following

(2) 11 is the cause and 1 is its effect.

(3) Both I and II are effects of independent causes.

(4) Lis the cause and I is its effect. ; : -

Consider the following statements and conclusions. Identify the right conclusion(s), which follow(s) 47.
the given statements. fizy

szf:vwnts : {rﬂ@ rf“i All managers are engineering graduates

I. Some employees are managers. o T a8 ;

Coneclusions : s

P. All employees are engineering graduates. 72|

Q. All engineering graduates are managers. &

A Some employees are engineering graduates. -:;i

Choose the most suitable option :

(1) Only P (2) Only R and P

(3) Only P and Q - Only R

A statement is given below which is to be taken as true, followed by two assumptions. Decide which 48.
of the given assumption(s) implicitly follow(s) from the statement.

Staternent : ‘

The pass percentage of the students of a college significantly increased.
Assumptions :

I. Most of the students go for higher studies.

I Students studied more efficiently than beford, )

Choose the correct option : o B

(1) Neither I nor II is implicit

(3) Beﬂl—l—&ﬂd-ﬂ-a!‘e-impﬁcit‘ . {4) QalyFistmphcit 49,
g statement and conclusioiﬂ%. Identify the right conclusion(s), which follow(s)

Consider the followin,
the given statements,

Statement :
As it stands today, some Indian sports are not what they were once. India had significant victories in

Football and Hockey earlier,

Conclusions :
L Presently, we have no good players of Football and Hockey in our country.

II. India lost many Football and H, i

Choose the correct option ; vhey mateheg ia socont g
(1) Neither I nor IT'

(3) Both I and II (4) Onlyl




; farming ?
v ; jcal-free natural t
Which of the following schemes i8 aimed at Pmm'-'(’;‘)nﬂ che-m 7 o honie 50

50
(1) Viksit Kisan Bharat Schicme 20
(8) Farmer Preducer-Organisation Seheme £ a8 porth aard
ion to Telangana Economy, as [ * 51
rue in relation blished by the Directorate o

ich of the following statements ig/are v
it} 1 | Estimates — 2028 pu

51.
provided in Telangana Economy Provigiona ¢
Economics and Statistics of Government of Telangana 4 orieon WAk 00 than thirteon Takh

A. Gross State Domestic Product of Telangana at curren
% in 2022 — 23.

rupees in 2022 — 23,

B. Telangana's Industrial sector achieved a growth rate of 13
Choose the correct answer :

@FBothAandB (NG A

(1) Neither Anor B (2) B only O
According to the Household Consumpﬁo:?!ixpenditurje Survey 2022 — 23, w_hich of the following
)

A. Chhattisgarh has the lowest rural and Qﬁ:m Monthly Per Capita Expenditure (MPCE).
B. Rural-urban difference in average MPGH is the lowest in Meghalaya.
C. Sikkim has the highest rural and urb PCE.

D. Chandigarh has the lowest MPCE in urban areas.
Choose the correct answer : :

' (2)—B-and-C-only
=47 A and B only e

ated to Interim Union Budget 2024 — 25 are true ?
get, the share of Gender budget is more than six percent.

ore than five percent of Gross Domestic Product.
an 25 lakh crore rupees. 5
dget as compared to the

gﬁ*ﬁ‘@ 2??\“3’5"* i 29'24 — 25 bu
) (2) BeandConty

@) €= dDonly e ! gg (4) Aa:ndBonly
54. As per the Telangana Socio Economi cOufﬂ,a ok — 2023, which of the following pairs related to the
M and the Gross District Domestic Product (GDDP) of that district in 2021 — 22 (First Revised

statements are true ?

'1
L
i

the following States in descending order i
ulation during 2019 - 21:
khand




YaaT Kteremim o mast s
g the Five
are true it relation s RomO oval of Poverty’.
56. Which of the following statements th Five Year Plan W 4th Five Year Plan,
A. One of the main objectives of the 5 onb of the obj v

B. To achieve Growth with Stability W* WOl'k and Prodncﬁﬂty‘ ': 2:
C. The focus of the 7th plan was o1 F L hlove [nclusive .

D. The main objective of oth pPlan was to & B.

Choose the correct answer : ’ &

af A and D only tai i P

' true about the progress of the S inable Aa

57.  Which one of the following statements is/arg ¥ " vély i

Goal 2(SDG 2) ? ¢ by 203 ] 1

A. The world is not on track to achieve zergunser targe eze . )

B. Burden of malnutrition in all its forms W ains a chall 57 :

1

Choose the correct answer : ’ (4) A only
(1) Neither Anor B (2) Bonly 'd

58. As per the vote on account budget of Telangana for the financial year 2024 — 25, CSentyy, '

State Assembly on Ioth February, 2024, the eshmated total expendlture is aprOleate]y. Al
ﬁ' 2-39 lakh crore (2) %240 lakh crore
(4) T2:95 lakh crore
ﬂ' - As DL the dﬂt& provided in Telangana Socio Economic Outlook 2023, the share of (

lary sector) in Total Gross State Value Added of Seum, .
 provisional advance estimates) in 2022 — 23 was around :

el?é{ﬂ(%remmct"‘

y citizen on grounds only of rehgon, nm;,

-

. .

J @e total rural population_ o -
g ) 1-9. A-utyodaya Anna Ym (AAY) .



[m_,:-_- mr-*-:.‘ : -ig B
[ 62. Match the following Acts with the year: : ; -
f . Aot Year

“A. The SCs and STa (Prevention of At.rodt.ies) Act 1 - 2016 b
B. National Commission for Safai Karamcharis Act . 1986 |
C. Child Labour (Prohibition of Regulation) Act . 1993 0k
D. Rights of Persons with Disabilities Act v. 1989 A |
Ghoo!eﬂ:eoamctanmf: : B

| ’ - @ Al B AT, DAV . o

. BAV; O 4) Al BAL CIV; DI s =
HO¢

(1)

3)
bel

A.

: J B--

D. Itis.g ; i ¥ W % 0
u Jagjiven Ram Chibstrawas Yojana (BJRCY)
e TEERONG A ) it s D.
- . Y A - ,'1'

s

Ind;an Conatity N N
} mﬁtﬂﬁmia oL oy X,
5 U : o : notmrehlg +



s

67. Consider the following statements. s
Assertion (A) : st vod aD: :
‘/pemwaﬁc decentralisation provided space for t};“ governaﬂce and developy &, l
their collective bargains and to get the ir due share in o
the interests of th.e

Reason (R) :
process helps to & womeil

tralisation and domocratisation
~fm ups like schaduled Castes, S¢ e}ﬂed Tribes

Choose the correct answe o on of (A).
1) Both (A) and (R) are true, put (R) is rot the correct explanati
(8) (A) is false, but (R) is true. 2}

(4) (A) is true, but (R) is false.
. Which of the Fullowing iwlare. trus, in. relatiorn, £0 the Pradhan Mantri
Yojana 2016 — 2020 ? _
[Rmambbnedsehame.pmwdingﬁ%eofcostakﬂldwalwmemmm
B. uhademmenmknmasGsn&aﬂySponsoredm Managed ar
State Managed. A B
& Tt provided skill development tra,ining i school, college dropouts an«
rtt““mmapromssofcreahngaregmh'yg of skills.




Which of the foll sta
A Itis ma:fi g thebt‘;]n::(;’m;’n‘i Sta
B. Itis fund by U women.

! ’ en.
D It ﬂﬁi‘:":"e«l i and idans € YO ,_nmd—@@y
answer : (2 ;

the correct W |
|(3) im . !'paﬂiﬁ y meant for the

deve!opmen Z Grants bR
A& mwmmhdﬁwm o tal Vayo Aphyuday Yojana
O PM Janjatiya Vikas Mission D. Atal Vayo

Ch correct answer : % S
Chonee the core I © Dely ., O (U
74 Mormmmmgmdelsofmtmmmiﬂmsﬁmwmhw- e
true ? . W T o
A The first model emphasises separation of regulatory fandﬂmﬁ’“ﬁ Z&WGIPM '
_B— The second model stipulates combmms regulatory and dwelojj_mept {unmons,

ofnmm Collector.
: recommended by Sarkaria cOmnusslan was for unification of
ions at the district level and deeentrallza@l atlawer}eve}s_ 5

() Aa.ndC@ 5
@ A and B ofily

.reference to the mmeral | o
treservesm];nd“ AZLEY




78.

79.

80.

81.

83.

iz ed extends fo O B paﬂl\
Consider the follo"7 Stzltjm: ns % rnmost part/bound&ry of 78.
A. Aswaraopetd Assemb® T\
B fﬁ'i?:ffé‘ 1?:::1;1.\? constituency &

: ot 7
Whifl:sr:f ‘thp above stntementn ja/are corre
(1) Neither A nor B

‘&F‘Both Aand B <‘] l
. ' ts ! -
Consider the following stateme? reigation projeets are e
d Boggulavagu ! , rdj}scts are 10
A. Koulasnala an Nalin? irrigation P

if
B. Kotepally Vaguand ASE 00 ot
Which of the above statements is/are . (2) Bonly

(1) Neither A nor B w A only
_ - al L-
g order in terms of their Female ltemcyRat"ﬂig 80.

Arrange the following districts in ascendin
C. Jogulamba Gadwal D. Narayanpet E. Wg,

ocated in the Godavari basip_ o
ted in the Krishna bagj,

on 2011 Census :

A. Nagarkurnool B. Medak

Choose the correct order : @) C,D,E,B, A (4) C,D, ARBg

() C,AD,E B GEEDIACEB) |«
er area of the Telangana State falls unge

According to Koppen’s climatic classification, a

o
(2) Humid Sub-tropical climate (CWa) ®
(8) Monsoon climate (Am) | Oc:-
5 £ !

(4) Tropical Savanna climate (Aw)| /| | |

-

Match the following National parks and their States :
National Park State
I.  Karnataka

A. Tadoba National Park
B. Madhav National Park
C. Dudhwa National Park ¢
D. Bandipur National Park
Choose the correct answer :

II.  Uttar Pradesh
III. Maharashtra
IV. Madhya Pradesh

(3) A-L; B-IV; C-II; D-ITT gz i‘?\:; 3"1“’"? C-I; D-II

'l 7 % f , I ALY 5 II; C‘II; D~I
The terms Al.lﬂ, Amazi’-, 'and"Borg’-are !'elﬁted a. hch 8 ]
(1) Three crops of maize Y o iy |




Consider the following two statements : ' ; a topogr: &pﬁic~ “
laden aiT str i 7

Assertion (A) : :
Orographic precipitation results when moﬂns ure

is forced upwards.
Reason (R) : parrier and the "
Most of the precipitation Ihlln on the windward of the ,

w

dry.

Choose the correct answer : ; of (A).
(1) Both (A) and (R) are true, but (R) is not the aﬁm explanation |
!m mnmmmmm_ -.l _, Y |

(4) (A) is true, but (R) is false.

86.  Which of the following statements about Continental Shelf are ¢oT AP W,
A Oonhnennl&elmmeonﬁnenﬁlmargmalareasmbmersed““d“ i e 3
KW&mmmmdemdmmmwwm M

‘‘‘‘‘

(2) B, G»andBonly
@ A,B CandD

1 :calledKollatamhls work “Nn 3
ATaS i




e —————

TABEY g

(1) Duarte Barbosa
~ (3) Frangois Bernier
92. Consider the following statements

' : . the month of e
.'Qi. Name the foreign traveller who Viﬂiwd. .,Gfoll\;:’::fi;:? i 8 !
clashes between the Shia and Sunni 8€¢t2 ' iR

(4) Jean de ThéVBnOt ar SRR

tectiire was a mixture of Persian, Hindu aml Mughaa Styleg
d emblems of Hindu myﬁlwm ) X %

A. The Qutb Shahi style urmhlw
u asan, a temple at. Anantagiri was renov

B. mnalammmuhu e

G Dnrimtheﬁmofm! on Che iat |n.

D. Shias Emblem of Five ig
mwmmmmmumwrm

(1) Band D only

93.  Arrange the following
3 mwmm
@ A, '_c.'n

(2; DBCA Al

(@) Bmécemly )
AﬂndBaﬂlY i

G




tabllshment
ological order gfthe eihasabha
n B Arundatiy? b . Mahasabha

98. Arrange the following organisations in chro s s
A. Matangi Sabha D. Munnt
C. Ambedkar Youth League A ﬂ C,B,A,D 18.
Choose the correct m'dor ‘ @ G, D, B,
(1) B,C,D,A @2 ABDC ' tamula :

bout Tkshvaku Sri Shat

99.  Consider the following ntntemenm a
A. He patronised Vedic Religion. ot. .
B. He performed Asvamedha yagna at Jazgaia:sﬂ nd Jain Basadis. 9.
C. He had donated Hiranyas to Buddhist ¥ ?1:8 )
D. He was a devotee of Mahasena Vll'llpaks? ol
Which of the above statements are incorrect ( )) B and D /M A and B
(1) Cand D

o the Vishnukundin period in Te

100. Which of the following was the Mahasanghika cen:ﬂ‘ ‘i‘;;:?;hemvu (4) Bavapurj %
(1) Indrapalanagaram (@ Keesara

101. Consider the following statements : 0.

tavahana period.
A. Fourfold division of the society had taken shape only after :::]119 S: o pe }
B. The Joint family system was not followed during the Satav g .
Which of the above statements is/are correct ? A
49 Neither Anor B (2) B only (3) Both A and B (4) Aonly
| 102. What is the Buddhist prayer hall called ?
i (1) Arama (2) Vihara @ Chaitya (4) Stupa :

103. Consider the following in relation to the supply of LPG domestic cylinder at subsidised rateg i

the Mahalakshmi Scheme : - gy
ders. ?'

ﬁ %e scheme is applicable to white ration card ho}
e State Government would transfer th
et %EII;S r il e r@.ured amount to the Oil Marketing
C. The OMCs on their part would trans}'er the

beneficiaries,

P ply is llmlted to av |
Solwmiitial erage of the last five years of consumption of cylinders by
Which of the above statements are correct ?
A7 Aand D only :
(3) A and C only
104. Match the following lift irrigation
ListI ;.
Lift irrigation praject [ barp, :
e 4 List 11
A
5 Mahatma Gandhi Kalwakurthy 13, Irrigat; & : R
C> Nizam Sagar Project 108 Project + Godavari
. J. Chokka Rao Devaduls ' /J(x .
Lift Irrigagiq Il Kri
D. Chanaka-Korata Barrage St Scheé% | Eﬂ Bgahn:ga
Choose the correct answer ; : IV. e
y q - Manjeera

(3) AdE-BI - Gy
b 0N, &H oo B C-IIL; ppy




ment of Telang X
Framework April 2022, of the Govers ’ ana, w‘“ﬁ#
following are part of the Space Market Value (.)hajnn zjontrol
A. Launch Services including Teleport and Misgsion

B. Satellite Manufacturing/Launcher Manu ra.cturing
C. Satellite Operations and Capacity Services

D. Establishing Space Stations in the Orbit

105. According to the Space Tech
10!

B,
b' B ARt o8 :24.)) A, B and C only
' Ve me of the Government of T
106. Consider the following in relation to thg&}ruha J 5‘3}2‘30 nite por. month, either ;:r
A. All the residents are eligible for freg glectricity up to
in the scheme by 20th ¢
ed in every

petty business. :

A : idy to be receiv:
B. DISCOMs will send the details of gk 4y amount to DISCOMS.
ﬁct ?

and Government will release the su

Which of the above statements is/are co

(1) Neither A nor B

(3) Both A and B . (4) Aonly :
107. Arrange the following sectors/items in ascending order based on proposed allocations (ins, 1
these sectors/items in Telangana State vote on account budget for the financial year 2::

presented to the State Legislature on 10t February, 2024 : ;
A. SC Welfare ' B. Capital Expenditure
- ' {113 ; D. Medical and Health

&y
® D,ACB . 4 ABDC

: : 1 )gii_{ﬂ%ﬁuﬁ Joint Military Exercise ‘SADA T
e Q (2) India— Afghanistan
Z (4) Iran — Kazakhstan

the National ﬂo f e
e n for Voter Awareness and Education for the Bk

Choose the correct answer :

1(

(3) Aand B only
$71 s e



(4) Egypt

eld ?
op-26 abia
Y Saud i Ara ntage of Geograph,

parties
T
% ¢ ¢ pased 00 P° r Forest Report — 2097

118. In which country wa )

(1) Australia 1 dusoe ading © rd de ndia - gtate :
114. Arrange the following States I as per b D.

Recorded Forest Area (RFA) in 2021 & ¢ Mizora™ mﬂp\

Forest Survey of India: AB,D

A. Nagaland B. Sikkim o; B, D, A C P 4 C

Choose the correct order : b, C (3) 2

(1) D,B,AC 2 BAD, o Jare correct |
115. Which of the following atatements a Agni ‘ors !

A. Ii uges a three-stage solid-fuelled engine. o dfito 2000 kilome @

B. It is capable of striking targets Merg](]) (j idat MDRV) technology.

C. It is indigenously develu%ec; :JY Targetable Re-entry Vehic

D. It uses Multiple — Dependable

Ch the correct answer : @ y

A0 AandConly | 4) A,aaé&”}"

(3)A;€-and Donly true ?
ated to Adltya-Ll Isfzﬁeters away from the Earth_ 1

116. Which of the following statements rel 1 kil
A. The orbit of Aditya-L1 is located roughly 1%mﬂhorongl Mass Ejections.

B. The mission will help us in understan

Cixoose the correct answer : q
(1) Neither A nor B ( (4) Aonly

(3) Both A and B
( 117. Match the following in relation to 2023 Nobel gﬁzes
! Name of the person Subject/Field

A Jonli‘oase I Physics '8
~ Na ohammadi II. Chemistry 3

- 'B"- a
C. AlekaeyYeklm TII. Peac
D. FerencKrausz V!@ Htg‘rli{“}‘e |ij8
. )% V. Physiology or Medicine _ 1

@ » (2) A-III; B-IV; C-I; D-II
: 9, ' A ' A AL B-1IV; C-I1; D-V
118. Which of - foll tatements about G-20 is/are correct ?
acy of the G-20 from 15t D th
member country of G-20 as of g((:)ezmher 2022 to 30 November 2023.

remier forum for internati
d in 1998, mational humanitarian co-operation,

O
mmﬁﬂmng O A B and D only x
svortspersons with their pespective s .
Name of the person  Nameofje s ports : :
Pravin Jﬂdhﬂv & . o =) Graadieia port

A
B.
C.
D.




‘the year 2023 with }

. awardees i poetsd, a0
demi
120. Match the following Sahitya AkeCol
which they were conferred the Language
Name of the awardee Sanskrit
A.  Vijay Verma ! hmiri
B. ArunRamjanMishra IL KBS
C. Manshoor Banihali ~ IIL g:agﬁ o
D. Vinod Joshi IV. O 1 B-IIL c-I; D-IV
Choose the correct answer : O (2) i‘ I\} B.II; C-ITL; D-1
) A-L, B-IV; C-III; D-II @ e
sioners of 2 ch% A
. a@ ection Commis 1
121. Who amongst the following were aPPOmted lB Gyam;z};n{{;mdaj 1 v # |
A. Rajiv Kumar D. Arun -
C. Sukhbir Singh Sandhu
' answer : 47 A, Cand D only

- (4) B,C andD only
[ (3) A and C only

i e system type for uge iy 4
122. Which one of the following is currently the leading energy storage Sy .

vehicles ?

(1) Ultracapacitors S Tk o DRRTadD
£ batteries

(3) Nickel-metal hydnde batteries ) (4) Lead-acid ba

Fnrest Report (Iﬁ'R) 2021, the percentage of the country’s ¢

B 123. Accord
o

el ""f:'-: ‘experiment
: %phe;zm measurements

payloads on board for studylng:-
of Moon. One of the experiment

La.rge Area Sens1t:1ve X-ray Spectrometer..

oon’s X-ray Fluorescence (XRF) spectra.
major elementg such a

O BoNa

(2) BandConly ...,,.-..;.'..‘;:.
G A%"&Eﬁﬂ
&

s Mg, Al Si, Ca, T3, ete,




and Technology : _
A. Strengthening, Upscaling
B. Technology Interventions

D: Innovation in Science Pursuit 1
Which of the above are correct ? ® ¢ and D only .
(1) B, C and D only ’ . i

in the Wlogicalorderoftheir ‘ |

(3) A, Band Conly
128. Arrange the names of the ﬁsllowihs Nobel ﬁmam

prizes :
A. Venkatraman Ramnh-ishnﬂﬂ T
S s -l D
correct order : , A,
@ paylﬂad (IW to h@)

(1) A, 6D:B
129. Arrange in the sequence, the ISRO rockets in 01'591' "f ﬂmr

L Satellite Launch Vehicle (SLV-3)
AL Gmchmnous Satelhta Laun h Vehicle (




3 arm
184. Consider the following statements about India’s PR

Assertion (A) :
e Bureau of Pharma PSUs of India (

Aushadhi generic medicines.
M'(R}:
The Government of India has set a target to increase &

(4) (A) is true, but (R) is false.

(BPPI) educates o

aceutical RO

public about the usage ofﬂha\

Kendras to 10,000 by March, 2024. o

mﬂmﬂ“@mmmmww‘”‘w“ :

(3) (A) is false, but (R) is true. O . E
Which of the following statemeng, . |

185. Jddevmhﬁnhnmnﬂowmmmtofmw

correct about Jal Jeevan Mission ?
A ‘Har Ghar Jal’ initiative was launched in 2019.

B Goa became the first certified Har Ghar Jal State in
C. Hﬂ‘Gh”Jﬂlmlhaavemaettopmdeallrumlhousehﬂ s

taps by 2025.
‘.'D Mmeﬂum?s

7% households are reported to have tap wait

2022.
Awt w:th safedrmhngmg

water supply as on 30.01.2024.




57 ‘=W<'M. AR T -
A
tatement(s) among the following : Gudde 03 30 WS
7% f eﬁfi:mw ofeEx(:arnal Affairs described the first Pokhran test as a peaceful 5,
explosion. o ' A e
B. This nuclear test was code-named ‘Smiling Bud(.lhﬂ. T 3
Choose the correct answer : . _ _ I_‘-
(1) Neither A nor B . B only |
Ao Both Aand B Aonly
140. Match the following vitamin deficiencies with th associated mm pﬂ,m.m.
Vitamin deficiency Health problem q |
B. Vitamin Bl IL Nightblindness | _ |
C. Vitamin D A o e e 5 Ml .
D. VitaminC 'IV'_ s g




, loped b *
144. Covaxin, India’s indigenous COVID-19 vaccine, was deve

I Bharat Biotech
II. Serum Institute of India Pvt. Ltd,
I11. Pharmacy Council of India — AstraZeneca al Institute of Virology (NIV)

IV. Indian Council of Medical Regearch (ICMR) ~ Nation

Choose the correct answer : {1
2) Il and 111 = e :
o 11 and IV (2) Ian nological order :

145, Arrange the following BIMSTEC Secretaries General iﬂ;hﬂ;\jani Pandey
A. Sumith Nakandala B, In f;‘l hidul Tslam
C. Tenzin Lekphell ()D. M. Sha
Choose the correct order : o ’ A
(1) D,A,B,C (2 C,B,A,D (w# A BCD

A correct ?
146. Which of the following statements about the United Nations (UN) are
A. The United Nations has six principal orgaff8. 11 member states, each of which hag

B> The General Assembly is composed of repn{ientatives from a
an equal vote. UN. scttles disputes between Bationg

C. The International Criminal Court (ICC), being an organ o.f : orpo s B i i ek
. The main function of UN Economic and Social Council is facilitating discus policy
recommendations for the world’s economic and social issues.

Choose the correct answer :
(2) GamdBonly

Q@
] ﬂ = (4) A and B only

147. Consider the following statements in relation fo'the Belt and Road Initiative (BRD) :
A. Itis a global infrastructure project that wi¥/developed and launched by China in 2013. -
B. It is aimed at strengthening China’s soft power in Asia, Africa and Europe by establishing land
and sea trade routes. 3
Which of the above statements is/s éx‘;ue e 30 P
(1) Neither A nor B are true lvrb,]” - L@F Only B is true
. " (4) Only A is true

4 th A and B are true
148. Which of the following organisation has jurisdiction over the Convention on the Prevention and
Punishment of the Crime of Genocide, 1948, also known as Genocide Conv
(1) United Nations General Assembly (UNGA) (2) Permanent C f Arbitratios CA)

ﬁ) International Criminal Court (ICC) U International Court of Just )

149. Which of the following is marked by the Bandung Conference, 1955 ?
(1) Declaration on the establishment of a NewInterns

(3) The formation of ASEAN : e
(4) Panchsheel Agreement between India and @,ina

150. Consider the following statements in connectiofl with the Bretton Woods
’ X : ‘ Conference :
A. This confe, hel shire, U i 3
: ox;enfif was held is 1944, at New @.mphlre, SA, to discuss the post-war international
B. The conference paved the w, - i i -
i : paved ay for the fbrmatlvgn of International Monetary Fung (IMF) and the
Which of the above statemen o i e
1 ; ; P ts .isfaz_'ia @nmnt v
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